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BEM 2-Jt
SEAS QA S0 E
CN2007 =549 JIEME aoied A
01 H1E M4 SE
0101 2 e - AR B A
0101 10 —HAISo A
0101 10 10|— ¢ Free 0
010110 90 [—— Z|E}L 7,7 0
0101 90 - 7|E}
— 2
0101 90 11 |—— E=EE9 A Free 0
0101 90 19 |-—— Z|E} 11,5 0
0101 90 30 [—— ELI4 7.7 0
0101 90 90 |— =M 2F HAH 10,9 0
0102 py
0102 10 —HAISo A
0102 10 10 |-— Of &l St (EotX|E Y2 Ho| gle eba) Free 0
0102 10 30 |—— &4 Free 0
0102 10 90 |—— Z|Et Free 0
0102 90 - 7|EL
—II=EE
0102 90 05 |-~ Z&o0| 80Z 2ao|5tel A 10,2 + 93,1 0
€/100 kg/net
— 30| 80Z =¥ =1} 160Z =21 o5t A
010290 21 |-——— =529 A 10,2 + 93,1 0
€/100 kg/net
0102 90 29 |[-——— 7|E} 10,2 + 93,1 0
€/100 kg/net
—— Z0| 160Z =203 =1} 300Z =1 o|siel A
0102 90 41 [—— E582| % 10,2 + 93,1 0
€/100 kg/net
0102 90 49 |-——— 7| E} 10,2 + 93,1 0
€/100 kg/net
—— &2fo| 300Z =2 S xa5t= A
—— {2l St (SotX|E Y2 Ho| gle eta)
0102 90 51 [———— %89 A 10,2 + 931 0
€/100 kg/net
0102 90 59 |[———— 7| e} 10,2 + 93,1 0
€/100 kg/net
PR %Fi
0102 90 61 |———- =£89 A 10,2 + 93 1 0
€/100 kg/net
0102 90 69 |———- HE 10,2 + 93,1 0
€/100 kg/net
—— 7|E}
0102 90 71 [———- TE89 A 10,2 + 93,1 0
€/100 kg/net
0102 90 79 [———— e 10,2 + 93,1 0
€/100 kg/net
0102 90 90 [-— 7| EF Free 0
0103 = x|
01031000 |- Ao A Free 0
- 7|Et
0103 91 — Z&o| 50Z =3 ojatel A
0103 91 10— 789 A 41,2 €/100 0
kg/net
0103 91 90 |-—— Z|E} Free 0
0103 92 — E20| 50Z=Z0H oMl A
— 589 A
0103 92 11 |-——— Z|2 &HH of &L Mf77| & 2 2AE|X|, 20| 160 (35,1 €/100 0
ZZ O ol N kg/net
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CN2007 =549 JIEME aoied A
0103 92 19 |-——— 7| E} 41,2 €/100 0
kg/net
0103 92 90 |——— Z|EL Free 0
0104 Diokn} Mok
0104 10 - Mok
0104 10 10 |-— HAIZ9| A Free 0
— 7|E}t
0104 10 30 [—— 1H0|5l2| HF 80,5 €/100 0
kg/net
0104 10 80 [——— 7| E} 80,5 €/100 0
kg/net
0104 20 — phok
0104 20 10 |—— HAIE2e| A 3,2 0
0104 20 90 [—— Z|E} 80,5 €/100 0
kg/net
0105 IEF(E - 22 - A9 - FH= 2 I\ otMol Sttt
— Z2fol 185124 o|stel A
0105 11 — &t
— HEA E A &
0105 11 11 |[—— SAHZ 52 €/1 000 p/st 0
0105 11 19 [-——— J[E} 52 €/1 000 p/st 0
-— 7|t
0105 11 91 |[—— SAHZ 52 €/1 000 p/st 0
0105 11 99 [-——— 7| €} 52 €/1 000 p/st 0
010512 00 [— & ®H=x 152 €/1 000 p/st 0
010519  [—ZIEf
010519 20 |—— A# 152 €/1 000 p/st 0
0105 19 90 [-— 22| & Z|L{otAl 52 €/1 000 p/st 0
- 7|t
010594 00 |— & 20,9 €/100 0
kg/net
0105 99 —— 7|E}
010599 10 |-— 22| 32,3 €/100 0
kg/net
0105 99 20 |-— H4 31,6 €/100 0
kg/net
010599 30 [—— &M= 23,8 €/100 0
kg/net
0105 99 50 |——— Z|L| o}AH 34,5 €/100 0
kg/net
0106 J|Ete| M =
- XIRF
0106 11 00 |— ¥ &&= Free 0
0106 12 00 [—— et =0l /(D=2 x7==) & Hict(HE  [Free 0
CtAa=9 ZREE)
0106 19 —— 7|E}L
0106 19 10 |—— 7I&E& E7| 3,8 0
0106 19 90 [——— 7| E} Free 0
0106 20 00 |- m=F (1 HEF =35 Free 0
- ,\H
0106 31 00 |—— WF=F Free 0
0106 32 00 |- YEFR(WZER, t2l7| ER, SLYEF, 7Y |Free 0
SFE Tt}
0106 39 —— 7|E}
0106 39 10 [——— H|&7| 6,4 0
0106 39 90 |-—— Z|E} Free 0
0106 90 00 |- ZIE} Free 0
02 Mo& s3 AlgMds
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CN2007 =549 JIEME aoied A
0201 07| (&M E= HESE ol S
0201 10 00 |- =2} o| 2= X 12,8 +176,8 5
€/100 kg/net
0201 20 - 7|Ele| Ao 2 A A= Hetst A
0201 20 20 |-— 'ZHMO|E| E'AFE E A 12,8 +176,8 5
€/100 kg/net
0201 20 30 [-— B2l =X LAAHLL 2elE 2 AR DA 12,8 +141,4 5
€/100 kg/net
0201 20 50 |-— 22|=X| AL 22lE HZ A2 A 12,8 +212,2 5
€/100 kg/net
0201 20 90 [—— Z|E} 12,8 + 265,2 5
€/100 kg/net
0201 30 00 |- Hgl= A 12,8 + 303,4 5
€/100 kg/net
0202 2 0I|(H S Zoll sttt
0202 10 00 |- x|} o| 2= A 12,8 +176,8 5
€/100 kg/net
0202 20 - 7|Ete| Ao =M = Hctst A
0202 20 10 [—— 'HHM|O|E| E'AL2 = A 12,8 +176,8 5
€/100 kg/net
0202 20 30 |-— 22|=X| 2LUAAL 22lE AF AR A 12,8+ 1414 5
€/100 kg/net
0202 20 50 [-— 22| = x| LAAHL 2elE S F AR A 12,8 + 221 1 S
€/100 kg/net
0202 20 90 [—— Z|E} 12,8 + 265,3 5
€/100 kg/net
0202 30 - eP= A
0202 30 10 [—— AZE AR A (2t AW == 2|0 52222 Mok (12,8 + 2211 5
=AU ANEEAM = S HoE]), F ':*OEIE = 'ZHHE  |€/100 kg/net
MIO|E| E'AFR =A| (BHt= 2t 1oF71 Lt Z|Cf 5RESZE
HChE A ALREH|, CHE Stbe oHM 2 K 2|t st
REO=Z = HE AREA)
0202 30 50 [—— =4tn} X HE| 12,8 + 2211 5
€/100 kg/net
0202 30 90 |—— Z|Et 12,8 + 304,1 5
€/100 kg/net
0203 WX DT|(AM - HE = WS SEZdof| SHtoh)
=AM = WS A
0203 11 — X ol ETH
0203 11 10 [— 715 & =Hix|el A 53,6 €/100 0
kg/net
0203 11 90 [——— 7| E} Free 0
0203 12 —— EXcte[4 - o7 At ol 58 HEE A (It U=
Zof &g
— 7158 =Xl A
0203 12 11 [——— E Xzl o| & Hetst A 77,8 €/100 0
kg/net
020312 19 [——— {7 &tz O| & HCHSH A 60,1 €/100 0
kg/net
0203 12 90 [——— 7| E} Free 0
0203 19 —— J|E}
— 7158 =Xl A
0203 19 11 |——— ZO{Y =2} o| & Hctst A 60,1 €/100 0
kg/net
020319 13 [———— SAZ} 0| & Mttt A (7} A= ZHof stEh) 86,9 €/100 0
kg/net
020319 15 [——— A4 Aln} O| & HCtSH A 46,7 €/100 0
kg/net

—— &
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CN2007 =549 JIEME aoied A
0203 19 55 |——- i gl = A 86,9 €/100 0
kg/net
0203 19 59 |————~ 7|E} 86,9 €/100 0
kg/net
0203 19 90 [——— 7| E} Free 0
-4
0203 21 — X2 ol 2 =R
0203 21 10 |-—— 7158 H X2l A 53,6 €/100 0
kg/net
0203 21 90 |-—— Z|EL Free 0
0203 22 —— SHcte| A . o7 AT O| ES HEHSH A (7 =
Zof stah)
— 7158 =HXx|el A
0203 22 11 |[-—— HXcCi2| Azt ol & Hetst A 77,8 €/100 0
kg/net
0203 22 19 [——— {7 &3} O Heks 60,1 €/100 0
kg/net
0203 22 90 [——— 7| E} Free 0
0203 29 —— J|E}
— 7158 =HXx|el A
0203 29 11 |——— ZO{Yl =R} O| & Hctst A 60,1 €/100 0
kg/net
0203 29 13 [——— SAlZ} 0| & Hctsh A (7} A= Zdofl ststot) 86,9 €/100 0
kg/net
0203 29 15 [——— At@Altn} O| & HCtSH A 46,7 €/100 0
kg/net
——— 7|Et
0203 29 55 |————— i 1= Z 86,9 €/100 0
kg/net
0203 29 59 |———- 7|E} 86,9 €/100 0
kg/net
0203 29 90 |-—— Z|E} Free 0
0204 HQF = AFo| IT(AMM - HE = H S Aol S
stoh)
0204 10 00 |- of2lH ko] T e} O|2 =& (AlM = HASH Zdol |12,8+171,3 0
shstct) €/100 kg/net
— J7|Ef Hekol WI|(AM E= HESH Ao Shsic})
0204 21 00 |—— EA| 2} o| 2 =X 12,8 +171,3 0
€/100 kg/net
0204 22 — J|Ele| Ho =M A = HEtst A
0204 22 10 |—— A& AIEZH (L E) 12,8 +119,9 0
€/100 kg/net
0204 22 30 |-—— StH/SAN 3/E= Zd| =4 12,8 +188,5 0
€/100 kg/net
0204 22 50 |——— Cl2| A 12,8 +222,7 0
€/100 kg/net
0204 22 90 |-— Z|E} 12,8 + 222,7 0
€/100 kg/net
0204 23 00 |— W gles A 12,8 +311,8 0
€/100 kg/net
0204 30 00 [- HElHete| =X 2} o| 2= (Y S) 12,8 +128,8 0
€/100 kg/net
- 7/EF MY 17| (HS3HA)
0204 41 00 |—— Ex| 2 o| 2= A 12,8 +128,8 0
€/100 kg/net
0204 42 |——7|Ete] Ho 2 M w2 MEtst A
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CN2007 =53 JIEME doedy oA
0204 42 10 [-— UZ AR EA (L E) 12,8 + 90,2 0
€/100 kg/net
0204 42 30 [-—— St/SAN 3/E= ZH| =4 12,8 +141,7 0
€/100 kg/net
0204 42 50 [——— Cl2| At 12,8 +167,5 0
€/100 kg/net
0204 42 90 [-—- 7| E} 12,8 +167,5 0
€/100 kg/net
0204 43 — i eles A
0204 43 10 [——— O{ &l T 2ko| Zd 12,8 + 234,5 0
€/100 kg/net
0204 43 90 [-—- 7| E} 12,8 + 234,5 0
€/100 kg/net
0204 50 |- &tgkel 17|
— MM Es HE
0204 50 11 |[-— Ex| 2} o| 2 = A 12,8 +171,3 0
€/100 kg/net
0204 50 13 [-— UZ AR ZAH (L E) 12,8+ 119,9 0
€/100 kg/net
0204 50 15 |-— StH/SA H/E= Zd| =4 12,8 +188,5 0
€/100 kg/net
0204 50 19 [——— Cl2| At 12,8 + 222,7 0
€/100 kg/net
-—— 7|t
0204 50 31 |-—-— &l Hctst A 12,8 +222,7 0
€/100 kg/net
0204 50 39 |-——- i glo| st 2 12,8+ 311,8 0
€/100 kg/net
— Hzol A
0204 50 51 |[-— Ex| 2} o| 2 =X 12,8 +128,8 0
€/100 kg/net
0204 50 53 [-— UZ AR ZAH (L E) 12,8 + 90,2 0
€/100 kg/net
0204 50 55 |-—— Stif/SA H/EE ZH|F4 12,8 +141,7 0
€/100 kg/net
0204 50 59 |-— clz| At 12,8 +167,5 0
€/100 kg/net
-—— 7| &t
0204 50 71 |-——— WA} Hcksk A 12,8 +167,5 0
€/100 kg/net
0204 50 79 |-——- t{glo| HHst 2 12,8 + 234,5 0
€/100 kg/net
0205 00 2 S - ARt A e DT(AM - B EE d S
Sk Zdof| stetot)
0205 00 20 |- &1 == A7 5,1 0
020500 80 |- H=2| A 5,1 0
0206 ABMF(FA)(2 - A - HF . A . 2h . Bt
At HAfe| He2AM &AM - HE = HSSH 2o
shstct)
0206 10 - 29| A (M E= HESEE Aol st
0206 10 10 |—— X 2k& Free 0
- 7|Et
0206 10 91 [— 2t Free 0
0206 10 95 [——— EA[AtT} OFEFAL 12,8 + 303,4 0
€/100 kg/net
0206 10 99 [——— 7| E} Free 0
- 20| A(HS)
0206 21 00 |-— & Free 0
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CN2007 =549 JIEME aoied A
0207 26 50 |————- JIEA 3 o| & Hetst A 67,9 €/100 0
kg/net
————— ctz|et ol & M Etet A
0207 26 60 |—————— cHAED ol E HEtst A 25,5 €/100 0
kg/net
0207 26 70 |—————— = 46 €/100 kg/net 0
0207 26 80 |————— 7|E} 83 €/100 kg/net 0
-— A5
0207 26 91 |———— 2t 6,4
0207 26 99 [-——— 7| E} 18,7 €/100
kg/net
0207 27 |- Htts Y Ms(4SE Aol sHetot)
e
0207 27 10 |———tel= A 85,1 €/100 0
kg/net
—— W3 A
0207 27 20 |[——— O| LA EE= AR EA| 41 €/100 kg/net 0
0207 27 30 |-——- SN (e ZEIR = 32) 26,9 €/100 0
kg/net
0207 27 40 |-——— S, =, 50| 22l 5, gdgol4 2 & & 18,7 €/100 0
kg/net
0207 27 50 |————~ JtEA 8 ol & Hetst A 67,9 €/100 0
kg/net
————— ctz|et ol & HEtst A
0207 27 60 |—————— EdAED o|E MEtst A 25,5 €/100 0
kg/net
0207 27 70 |————— = 46 €/100 kg/net 0
0207 27 80 |———— 7|Et 83 €/100 kg/net 0
— A5
0207 27 91 |——— 2t 6,4
0207 27 99 |———— 7| E} 18,7 €/100
kg/net
- 22, A% % 7|HotMel A
0207 32 —— HCtstX| ot st F(AIM == HZESH Zof| sHsic))
-— 22|29 A
0207 32 11 [——— &, = 2 &X}t= MAIM 2L 22 THUX| 22 [38 €/100 kg/net 0
Hez, Helet g Zn A= 71(85% | 222 &Y
& A)
0207 3215 |———EHS &1 &S HH He =z Ha|, &2 MAHY (46,2 €/100 0
oLt =, MA ZHE ZElFHU = 1 U= W (70%2l |kg/net
2|2 227 AH)
0207 32 19|-——— B2 &1 &2 HH Hoz He|, &, =, AE (51,3 €/100 0
2 Y 2l FHUE XAHSE AW (63%2 222 L2 [kg/net
A EE Ch2 Aoz MAIE ZH)
— A2l A
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CN2007 =549 JIEME aoied A
0207 32 51 |-——— 23t Il = M AHSIF 2Lt i &2 AKX 22 A2 |45,1 €/100 0
Z He|et w2 JHX 2 U= A(82%2| Hel=Z 2Rl [kg/net
A)
0207 32 59 |-——— B2 &1 &2 HH ZHdez, He| ¥ ¢e | 48,1 €/100 0
H, A 2 FHY MH ofR= 228 A(75%2]  |kg/net
He 2 &7l A E= o2 gAlo 2 MAIE AH)
0207 32 90 [——— Z|L|{otAi el Zd 49,3 €/100 0
kg/net
0207 33 —— HEt5HX| ot B (Y S 6F ol sHeio})
-— 22|29 7
0207 33 11 [———EH2 &I HES HA A=z 2| o g2 | 46,2 €/100 0
H, =, ME 2HE Y 2efFHU = 20 A= A(70%  |kg/net
ol 2z|z ¢l A
0207 3319 |———EHS &1 &S /HH Hez2A He|, & =, & [51,3€/100 0
T 2, 2 FHUE MAS H(63%2 222 23 |kg/net
T A E=CchE Ao 2 MAIE AH)
— Aol A
0207 33 51 [——— &, T = M AHSIF 2L}, ZE2 HUX| &2 W2 (45,1 €/100 0
EM He|, 22 20 A= AW(82%2 He=Z & E A) [kg/net
0207 3359 [——— B2 &1 HES HHA Hez He| ¥ 22 XA, (48,1 €/100 0
AMED e FHU HAH o7 228 20(75%2 HLIZ |kg/net
2|l A = o2 YAlo 2 HAIE A)
0207 33 90 |——— Z|{ofAf e ZH 49,3 €/100 0
kg/net
0207 34 |- 7|87 ZHAIM == HZsE Zof| shsio)
0207 34 10 [—— AH=Iel A Free 0
0207 34 90 [-— 2z2|o] A Free 0
0207 35 — 7|EHAIM E= B ESE Aol sHEiot)
——— Mok
—— U= A
0207 35 11 |———~ Helel A 110,5€/100 0
kg/net
0207 3515 |———- 22| == Z|Holel 2 128,3 €/100 0
kg/net
— i A= A
————— O| 2L = AFEEA
0207 35 21 |———— 2zlel A 56,4 €/100 0
kg/net
0207 35 23 |———— Helel A 52,9 €/100 0
kg/net
0207 35 25 |——— ZlHotM el A 54,2 €/100 0
kg/net
0207 35 31 |——— (SN E 2T EE) 26,9 €/100 0
kg/net
0207 35 41 |———- S, 5, 50| 22l 5, Yol 2 I & 18,7 €/100 0
kg/net
————— JtE4a 2 ol E Hutet A
0207 35 51 |———— Helel A 86,5 €/100 0
kg/net
0207 35 53 |-—————— 22| E= 7|4 otMe| A 115,5€/100 0
kg/net
————— ctz| et ol & HEtst A
0207 35 61 |———— Helel A 69,7 €/100 0
kg/net
0207 35 63 |—————— e[| E= 7|L{oti el 2 46,3 €/100 0
kg/net
0207 35 71 |————~— Hel E= 22| ZHEE 66 €/100 kg/net 0
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CN2007 =59 JIEME
0207 35 79 |———- 7|E} 123,2 €/100
kg/net
-— A5
0207 35 91 |-——— ZHZ|EZ 7t M| 2]) 6,4
0207 35 99 [———— 7| Et 18,7 €/100
kg/net
0207 36 —— 7|EH('H S &+ Zof|
- X |:|_|-.,<:>T
—— U= A
0207 36 11 |————— Helel A 110,5 €/100
kg/net
0207 36 15 |———- 22| E= Z|HotMel H 128,3 €/100
kg/net
—— A= A
————— O| 2L = AFEEA
0207 36 21 |———— z|el A 56,4 €/100
kg/net
0207 36 23 |———— Helel A 52,9 €/100
kg/net
0207 36 25 |—————— Z|u ot el A 54,2 €/100
kg/net
0207 36 31 |———— (e = 26,9 €/100
kg/net
0207 36 41 |————— S, =, 0| 18,7 €/100
kg/net
————— 4 2 ol &
0207 36 51 |—————— Helel A 86,5 €/100
kg/net
0207 36 53 |-—————— 22| E= 7|4 otM el A 115,5€/100
kg/net
————— Ctz| 2t o| & Hctst
0207 36 61 |———— Helel A 69,7 €/100
kg/net
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kg/net
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0207 36 79 |————~ 7|E} 123,2 €/100
kg/net
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-2t
0207 36 81 |———— H2lel 7|EX Free 0
0207 36 85 |———— 2zl 7|57 ZH Free 0
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kg/net
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0403 10 39 |-—— 10022 62 =25t= A 0,54 €/kg + 21,1 0
€/100 kg/net
—— &= ofAl 2 ADE E= I FOLE HIbSHA
—— 24, Ak 2 T|Et 10X AEfe| AW, RAIY SRE
ol MEH &
0403 10 51 |-——— 100&2| 1.50]|5k2l Z 8,3 + 95 €/100 0
kg/net
0403 10 53 |-——— 10022 1.5&%2} 10022 270|352l A 8,3+ 130,4 0
€/100 kg/net
0403 10 59 [-——— 100&2<| 272 =3lst= A 8,3+ 168,8 0
€/100 kg/net
— 7|E}, RX|2 RO MEH F
0403 10 91 |-——— 100&2| 30|52l A 8,3+ 12,4 €/100 0
kg/net
0403 10 93 [-—— 1002<2| 3=1} 10022| 60|+l 8,3+ 17,1 €/100 0
kg/net
0403 10 99 |-—— 10022 62 =2l5t= A 8,3 + 26,6 €/100 0
kg/net
0403 90 - 7|t
—— 8 oA AR, E= FFoL MIKEHA| gk A
—— 24, A 2 J|EF A MEfel A
———— ME £= J|El Zo|2 & HIIsHK| ot gt A, K|
2 SR MNESHF F
0403 90 11 |———— 100£22| 1.50|5tel A 100,4 €/100 0
kg/net
04039013 |———— 10022 1.5 10022| 270|5tel 2 135,7 €/100 0
kg/net
04039019 |——- 10022 272 =3st= A 167,2 €/100 0
kg/net
———J|E}, X|2E SHFHO| MEH S
0403 90 31 |——- 10022 1.50|5k2 2 0,95 €/kg + 22 0
€/100 kg/net
0403 90 33 |————~ 10022 1.5%1} 10022 270|5k2l Z 1,31 €/kg + 22 0
€/100 kg/net
0403 90 39 |————- 10022 272 =30st= A 1,62 €/kg + 22 0

€/100 kg/net

—— 7Ief
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—-—— M& £z J|El Z0|2 & HIISHX| ot St A, K|
HE SR MNEHF F
0403 90 51 |——- 10022 30|52l A 20,5 €/100 0
kg/net
0403 90 53 |————~ 10022 3x1} 100&22| 60|52l A 24,4 €/100 0
kg/net
0403 90 59 |————- 10022 68 =1lst= A 59,2 €/100 0
kg/net
-———J|E}, X|YE SFHO| M B
0403 90 61 |————~ 10022 30|stel A 0,17 €/kg + 21,1 0
€/100 kg/net
0403 90 63 |————~- 10022 3x1} 100&22| 60|52l A 0,20 €/kg + 21,1 0
€/100 kg/net
0403 90 69 |———~ 10022 62 =1lst= A 0,54 €/kg + 21,1 0
€/100 kg/net
—— & oA AR, E= I Aot HItEH A
—— A A2 J|Et IR AEfe| W, RAIY SR
ol MEH Z
0403 90 71 |-——— 100&22| 1.50|5tel Z 8,3 +95€/100 0
kg/net
0403 90 73 |-——— 10022 1.5x%2} 10022 270|352l A 8,3+ 130,4 0
€/100 kg/net
0403 90 79 |-—— 100&22| 272 =3}st= A 8,3+ 168,8 0
€/100 kg/net
— 7|E}, RA|e ERFO| MEH F
0403 90 91 [-——— 100&2<| 30]|stel A 8,3+ 12,4€/100 0
kg/net
0403 90 93 [-—— 100&2<2| 3=1} 10022l 60|+l 8,3+ 17,1 €/100 0
kg/net
0403 90 99 |-——— 10022 62 =zl5t= A 8,3 + 26,6 €/100 0
kg/net
0404 FEHEFoIUHL e 7|El Zo|2E HIIIH =X 2
{FE st =z E&/E A 2o Modd 3ol =
dE2 gRote eSWY 7B UD|EE HIGIE =
Xe| {2 E =E¢lic})
0404 10 - R HE FE(SEIUAL LA J|EF Zo|2E H
75t =X & & =28l
— =4 M 3 JIEF IH Mejol A
-—— MY = J|Et Z4o|2 & ZESHX| ot st He =z
M CHHE KU EZ U &2 x 6.38)0] ME 2
-———100&2| 150|5t0| 11, X|at HF&0| MES o
0404 10 02 |————~ 10022 1.50]st2l Z 7 €/100 kg/net 0
040410 04 |———- 10022 1.5} 10022| 270|352l Z 135,7 €/100 0
kg/net
0404 10 06 |————~ 10022 272 =30st= A 167,2 €/100 0
kg/net
-———100&2| 15 =1o|11, X|at &t 20| MESZF o
04041012 |————~ 10022 1.50]st2l Z 100,4 €/100 0
kg/net
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04041014 |———— 10022 1.5} 10022| 270|5tel 2 135,7 €/100 0
kg/net
04041016 |————— 10022 272 =3st= A 167,2 €/100 0
kg/net
——— 7| Ef, G A S (L EZ 3 x 6.38)0| MEH
=
-———100&2| 150|5to| 2, X|ut 20| MBS
0404 10 26 |———— 100£2| 1.50|5tel A 0,07 €/kg/net + 0
16,8 €/100
kg/net
0404 10 28 |———— 10022 1.5} 10022| 270|352l 2 1,31 €/kg/net + 0
22 €/100 kg/net
0404 10 32 |————~ 10022 272 =3st= A 1,62 €/kg/net + 0
22 €/100 kg/net
-———100&2| 15x=1to|11, X|at tF&0| MS o
0404 10 34 |————~ 10022 1.50]st21 Z 0,95 €/kg/net + 0
22 €/100 kg/net
0404 10 36 |————~ 10022 1.5%2} 10022 270|5k2l Z 1,31 €/kg/net + 0
22 €/100 kg/net
0404 10 38 |————— 10022 272 =30st= A 1,62 €/kg/net + 0
22 €/100 kg/net
—— 7|E}
—— MY == J|Et 0|2 E EEEHA| ot E Ao 2
M CHHE KU EZ U &2 x 6.38)0] MEH2
————100&2| 150|5t0| 11 X|& g7 EFo| MEH2
0404 10 48 |————~ 10022| 1.50|5t2l 2 0,07 €/kg/net 0
0404 10 52 |————— 10022 1.5} 10022| 270|352l Z 135,7 €/100 0
kg/net
0404 10 54 |————~ 10022 S =3fst= A 167,2 €/100 0
kg/net
———— 10022 15=2}0|1 X|& &FFH0| MS T2
0404 10 56 |———— 100£2| 1.50|5tel A 100,4 €/100 0
kg/net
0404 10 58 |———- 10022 1.5 10022| 270|352l 2 135,7 €/100 0
kg/net
0404 10 62 |———— 10022 272 =3lst= A 167,2 €/100 0
kg/net
—— 7|E}, CH A SHRHUEZ A &3 x 6.38)0] MEH
=
-———100&2| 150|5t0| 1 x|t &-FE0| M=
040410 72 |———— 100£22| 1.50|5tel A 0,07 €/kg/net + 0
16,8 €/100
kg/net
040410 74 |———— 10022 1.5} 10022| 270|352l Z 1,31 €/kg/net + 0
22 €/100 kg/net
04041076 |———— 10022 272 =3lst= A 1,62 €/kg/net + 0

22 €/100 kg/net

——— 10029 15% 20| 2 ALE graol DBl
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040410 78 |———— 10022 1.50|5k2 2 0,95 €/kg/net + 0
22 €/100 kg/net
0404 10 82 |———— 10022 1.5} 10022| 270|352l Z 1,31 €/kg/net + 0
22 €/100 kg/net
0404 10 84 |————~ 10022 272 =30st= A 1,62 €/kg/net + 0
22 €/100 kg/net
0404 90 - 7|E}
-— Mg = J|Ef Z40|2 & HIISHX| ot & 2, X| gt
= ol ™ s
0404 90 21 |-—— 100&22| 1.50|5f2el A 100,4 €/100 0
kg/net
0404 90 23 |-— 100&22| 1.5=2} 10022 270|5}2l A 135,7 €/100 0
kg/net
0404 90 29 [-— 100&2¢2] 272 =15t= A 167,2 €/100 0
kg/net
—— 7|Et, X EREO| MBI
0404 90 81 |-—— 100&2¢2| 1.50|5f2el A 0,95 €/kg/net + 0
22 €/100 kg/net
0404 90 83 |-— 100&22| 1.5=2} 10022 270|5t2l A 1,31 €/kg/net + 0
22 €/100 kg/net
0404 90 89 |-— 10022 272 =3l5t= A 1,62 €/kg/net + 0
22 €/100 kg/net
0405 HE| 2 7|Ete| X[ R(L oM HOo{Zl Zdof| sHstet),
Hlojg| A==
040510 - H{H
—— X| & R0l MEE2| 10022] 8505kl A
——— M A E
040510 11 |-—— SA| =z A (Aol 1Zd=2aolstel ol  [189,6 €/100 0
shstct kg/net
0405 10 19 |[-———— 7|E} 189,6 €/100 0
kg/net
040510 30 [——— HE{(RHZ &st A) 189,6 €/100 0
kg/net
0405 10 50 |-—— T2 E] 189,6 €/100 0
kg/net
040510 90 [—— Z|E} 231,3 €/100 0
kg/net
0405 20 -dojz] a2z =
0405 20 10 |—— A& &7 20| MEZSZF2| 10022l 3904 10022 |9 +EA 0
60o|gtel 2
0405 20 30 [—— x| gt &2fo| MBS 2Fe| 10022 600|AH 10022 75 (9 + EA 0
o|stel A
0405 20 90 |-— X| &t stF&Fo| ME S| 10022 752 1002 189,6 €/100 0
8oojgtel Z kg/net
0405 90 - 7|E}
0405 90 10 [—— x|t errero| MEZE2| 10022 99.30| 4 =& & [231,3 €/100 0
2ol M &2kl 10022] 0.50]5k2 A kg/net
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0405 90 90 [—— Z|E} 231,3 €/100 0
kg/net
0406 x| =2t HE
0406 10 - MMM E[X] ot B A EE= X2|SHX| ot sH A)
X = (FEX=E ZESChHel FHE
0406 10 20 [— X|&t &R0l MEE2| 10022| 400]|5te! A 185,2 €/100 0
kg/net
0406 10 80 |—— Z|Et 221,2 €/100 0
kg/net
0406 20 - LAUALL BAIOZ S BE BEFO X=
0406 20 10 [-— B2IRA F EX|=(AEX[O|H/EX|RE HED & (7,7 0
Z2 3 EE M2 RZx)
0406 20 90 |—— 7|Et 188,2 €/100 0
kg/net
0406 30 - ISR = (L UAHL 42| WS H 2| Stot)
0406 30 10 |—— ol H &, O 2o 2, otH & X|=(0{El X|== M 2|)E |144,9 €/100 0
ALEsH BHE A2 HIN Z 2R A EX|=(AEXL [kg/net
O|HZE LHA)E &Fste A 2822 AXME
ol M X|g ehr ol ME =2l 10022 560]stel A
—— 7|E}t
——— A= ateffol| M X|eho| EhRZFO| MEE2| 10022
360[|35tel Z
0406 30 31 |-——— 100&22| 480|35tel Z 139,1 €/100 0
kg/net
0406 30 39 |-—— 10022| 482 =3}st= A 144,9 €/100 0
kg/net
0406 30 90 [-— X| g} gtRE0| M2 10022] 362 =1lst= 215 €/100 kg/net 0
oAl
0406 40 - =24l x| =e} HLAE| S 2RI EE|Z YAHE Hf
QIS &St 7Bt A=
0406 4010 |—— =2d=xZ= 140,9 €/100 0
kg/net
0406 40 50 |-— 1= 2 &2} 140,9 €/100 0
kg/net
0406 40 90 |-— 7|Et 140,9 €/100 0
kg/net
0406 90 - 7|E} X|=
0406 90 01 |— 7l=2& 167,1 €/100 0
kg/net
- 7|E}t
0406 90 13 |——— of| HIEF 171,7 €/100 0
kg/net
0406 90 15 [——— O Fol2, AEBZ= X|= 171,7 €/100 0
kg/net
0406 90 17 |-— B{27H M|, o}HI® x|= 171,7 €/100 0
kg/net
0406 90 18 |-—— Z20iF Z2|fEFof, HIHY SE2, E|[E E B|171,7 €/100 0
OFX| X|= kg/net
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0406 90 19 |—— S22} S EX=(AEXI0|H/EHX|7E 2HE1 &|7,7 0
A2 EE M2 Rx)
0406 90 21 |—— A C} 167,1 €/100 0
kg/net
0406 90 23 |——— of & 151 €/100 kg/net 0
0406 90 25 [——— EAIE 151 €/100 kg/net 0
0406 90 27 |-—— H{E{FHA| 151 €/100 kg/net 0
0406 90 29 |——— FI 7t 151 €/100 kg/net 0
0406 90 32 |——— | E} 151 €/100 kg/net 0
0406 90 35 |-—— HE=-E|Z| 151 €/100 kg/net 0
0406 90 37 |——— EIZtC| o} 151 €/100 kg/net 0
0406 90 39 |—— &AM 151 €/100 kg/net 0
——— J|Ef
0406 90 50 [-——— HAF L= HEZ 2R HW(YFH 7| £= 2F |151 €/100 kg/net 0
I Ee GATHE el o steto))
———— 7| E}
————— X gt strEo| MEF2| 10022 400]5t0| 1,
EX|gHAEfo A =8 RO MEH F
—————— 10022| 470|5k2l Z
0406 90 61 |——————— a2t miohe, Tt2o| X 2 Xt 188,2 €/100 0
kg/net
0406 90 63 |——————— IYX2E, HIAZE = 188,2 €/100 0
kg/net
0406 90 69 |—————— 7| E} 188,2 €/100 0
kg/net
—————— 10022 47=1} 10022| 720|stel A
0406 90 73 |————— TZ2=Z2Y 151 €/100 kg/net 0
0406 90 75 |——————— OfX|otX, F}X| 272, 2EIX| 2, 27Xt {151 €/100 kg/net 0
0406 90 76 |———— CHe | EEF EE|L, EHE, SHHtE[, of2| 2, A {151 €/100 kg/net 0
A
0406 90 78 |————— ach 151 €/100 kg/net 0
0406 90 79 |—————— AE OlE2|Z, A, MUE = MEZH EF (151 €/100 kg/net 0
XX =
0406 90 81 |————— Ze MM, dseld, HM, =224 151 €/100 kg/net 0
B, 22i4, 24|, 2Hzlo]
0406 90 82 |————— et = 151 €/100 kg/net 0
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0406 90 84 |———— =2 151 €/100 kg/net 0
0406 90 85 |————— Az ae|o2l, FtAMz 151 €/100 kg/net 0

——————— 7Bt X| =, RX|gtAEfjollM =& FREFO| N
EH =
0406 90 86 |——————— 100229 47x1} 10022| 520|5k2l A 151 €/100 kg/net 0
0406 90 87 |————— 10022 52% 1} 10022| 620|5k2l A 151 €/100 kg/net 0
0406 90 88 |————— 10022 622} 10022| 720|352l 2 151 €/100 kg/net 0
0406 90 93 |————— 10022 728 =3tst= A 185,2 €/100 0
kg/net
0406 90 99 |———- 7|E} 221,2 €/100 0
kg/net
0407 00 Z2HZH ROl 22 H2ZAM MMsIAHLE HEXHE| E=
Z=g|st ol stetot)
-7ta&e A
-— 53512
0407 00 11 |—— &M= = H2e| A 105 €/1 000 p/st 0
0407 00 19 |-— Z|E} 35 €/1 000 p/st 0
0407 00 30 |—— Z|Et 30,4 €/100 0
kg/net
0407 00 90 |- 7|E} 7,7 0
0408 =zH(gZEo| 2X| ot &t )1t HEH(AIMEE W, AESH
W, ol HUAAHLEI W AW, MYst A, ASs A £ 7|
Ete] M&AelE §F Zoll ststnf, A& J|El ZD|RE
HII5t¥ =X|ol {2 E EESH)
- g
0408 11 — A=t A
0408 11 20 [—— A2 2 M $tslX| of st A Free 0
0408 11 80 |-—— Z|E} 142,3 €/100 0
kg/net
0408 19 —— 7| E}
0408 19 20 |-— Al&2 2 M3tstA| of st A Free 0
-— 7|t
0408 19 81 [——— WU Ato| A 62 €/100 kg/net 0
0408 19 89 [——— 7|EHH & = &) 66,3 €/100 0
kg/net
- 7| et
0408 91 — =St A
0408 91 20 [ A2 2 M FtslX| of st A Free 0
0408 91 80 |-—— Z|E} 137,4 €/100 0
kg/net
0408 99 -— 7|E}
0408 99 20 |-— Al&o =2 MEHshX| of 5t A Free 0
0408 99 80 [——— 7| E} 35,3 €/100 0
kg/net
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0409 00 00 | & 17,3 5
0410 00 00 |2 EFEX| L2 AlZ2 =M MAE 7,7 0
05 M 57 ct2 Foll 2F=X| ofLSt SEM MME
0501 00 00 |2l 2 (7+ZSHX| ot EHd, MA MEHFE 2&2) 2 1 9 |Free 0

O|AE
0502 HXE - SXE - 242" L T|E EEA] M =E2
22l 1 9o|aE
0502 10 00 |- X[ Bl=HX|E 2 O Yo|AaE Free
0502 90 00 |- 7| Et Free 0
0504 00 00 [ =(HFE M <elstct)e| Zh - ghdto|Lt 2] MA =& |Free 0
cEAM WS s HE HSE AT EE E
X gt Zof °J°H:H
0505 Mol friuet 27t 22 J|EF &, Mol AEnt O
S22 He|E AdelX|el o fFE 226, M
of SEH(EY - &5 = HEES 2T M2l olate] Jt=s
£ StX| ot ¢l Zdoﬂ stotct) 2 Mol A" == O 7 &
of 23} flojA
0505 10 - 52 ¢ SUME AUE
050510 10 [—— <&#A Free 0
0505 10 90 |-— Z|E} Free 0
0505 90 00 |- Z|E} Free 0
0506 i 2f E20{[7}35HX| ot St A, EFX|EH A, Ees| A
2lst Z(EMst Moz 22 A2 Melsto)), A4 E
L= Etwst ] 2 o|E2 23 flo|AE
0506 10 00 |- 2 A2} i (AX 2| 8F Z) Free 0
0506 90 00 |- Z|E} Free 0
0507 ofo|Ez| . Az - Dl O H - E - AlSE - UF
- 2 8 22| (73 skX| ot &t AW} ches| Ha|st A
of 3_%} {1, SEMStEMoZ 22 A s ML st & of
Eo 21 Yo|aE
0507 10 00 |- olo| 22| & ofo|Ez[e| 23} Q0|2 E Free
0507 90 00 |- Z|E} Free
0508 00 00 [&tS 2t o| 2t FALSE E&(7t38HX| ot SF 41T} &3] |Free
He|st Aol ststo, o o|ate| J1Z 2 & W2 M elst
ohH 2 A== - 2247 = Fus=2 Aozt 2
Zojtd (7t=StX| ot st H 1} ches| Ma|st 7401[ Stst
oy, EYSF AR B2 A2 Helschet olE2e &
1} fJo|AE
0510 00 00 [S4 &k - alizl ek - AlBlnt ALEE . HIH2|C| = - SE(H X |Free 0
St ZdeIX| el iR E EEstch ot o oFE =gl M
(BR)OILt 7Bl S 24 MAE(MM - HZ . HT = 7|
Ete] gtHo 2 AN MEX2|E St ol &5t}
0511 mz 2= X ot st EM YMED M1/ E= H3
Fol S22 AMZM AlZof X EHstX| ot sH A
0511 10 00 |- =9 MM Free 0
— 7|E}
0511 91 — OF - 4R - AMSE E= V|Et FHERFEE
o MAHE 2 X3/ sl o= =2l A
0511 91 10 [——— | &/ Yo|AE Free
0511 91 90 |-—— Z|E} Free
0511 99 — 7| Ef
0511 99 10 [-— =9 74z 2, Yo olH oY 3 o|2t FAIEE /0| |Free 0
AE
— =4 Mo MsiH
0511 99 31 |-——— <A Free
0511 99 39 |———— 7| E} 51
0511 99 85 |——— Z|E} Free
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06

0601

0601 20 10 |—— #|7 2|2t x[7 2| F2|

0601 20 30 |—-
0602 20 10 |-—— =&l & 7IX(H=

0601 10 40 |-- 22ic| 22
0602 20 90 |-— 7| Et

0601 10 90 |- 7| Et

0601 20
0602 30 00 |- EZ% L9

0602 10 90 |-— 7| Et
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